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𝑑 TAG 

𝑑𝑡
= −(𝑘1+𝑘2+𝑘3) TAG − TAG𝑓  

𝑑 𝑠𝑛-1,2/2,3 DAG 

𝑑𝑡
= 𝑘1 TAG − TAG𝑓 − 𝑘4 𝑠𝑛-1,2/2,3 DAG  

𝑑 𝑠𝑛-1,3 DAG 

𝑑𝑡
= 𝑘2 TAG − TAG𝑓 + 𝑘4 𝑠𝑛-1,2/2,3 DAG − 𝑘5 𝑠𝑛-1,3 DAG  

𝑑 𝑠𝑛-2 MAG 

𝑑𝑡
= 𝑘3 TAG − TAG𝑓 − 𝑘6 𝑠𝑛-2 MAG  

𝑑 𝑠𝑛-1/3 MAG 

𝑑𝑡
= 𝑘5 𝑠𝑛-1,3 DAG + 𝑘6 𝑠𝑛-2 MAG − 𝑘7 𝑠𝑛-1/3 MAG  

𝑑 FFA 

𝑑𝑡
= 𝑘1 TAG − TAG𝑓 + 𝑘2 TAG − TAG𝑓 + 2𝑘3 TAG − TAG𝑓 + 𝑘5 𝑠𝑛-1,3 DAG 

+ 𝑘7 𝑠𝑛-1/3 MAG  

𝑑 GLY 

𝑑𝑡
= 𝑘7 𝑠𝑛-1/3 MAG  
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 Data set 1 Data set 2 

 FE ME LEC SPI CP 

k1 0.081 ± 0.004 0.098 ± 0.005 0.035 ± 0.003 0.039 ± 0.003 0.080 ± 0.005 

k2 0.034 ± 0.003 0.051 ± 0.007 0.019 ± 0.004 0.010 ± 0.002 0.040 ± 0.005 

k3 0.058 ± 0.003 0.071 ± 0.004 0.023 ± 0.002 0.009 ± 0.001 0.017 ± 0.001 

k4 0.004 ± 0.000 0.002 ± 0.001 0.003 ± 0.001 0.003 ± 0.001 0.001 ± 0.001 

k5 0.541 ± 0.285 0.097 ± 0.027 0.033 ± 0.013 0.086 ± 0.036 0.024 ± 0.005 

k6 0.004 ± 0.000 0.002 ± 0.001 0.003 ± 0.001 0.003 ± 0.001 0.001 ± 0.001 

k7 0.037 ± 0.003 0.024 ± 0.003 0.018 ± 0.003 0.059 ± 0.004 0.043 ± 0.005 

TAGf 49.68 ± 0.06 51.44 ± 0.05 48.36 ± 0.19 41.18 ± 0.29 42.47 ± 0.27 

 


